CHAPTER 2.3 ANSWERS
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. Apredator is an animal that captures and eats another organism, of any consumer in an ecosystem. A parasite

may be considered a predator because it “captures” another organism by sticking to it or entering it, and a
parasite getits food from its host. However, a predator kills its prey, and parasites generally do not kill their hosts.
It may be hard to determine whether both organisms get some benefit from their close relationship (which
happens in mutualism) or whether one benefits and the other is neither helped nor harmed (which happens
in commensalism).

Sample answer: commensalism—between fishermen and seagulls following a boat for scraps; parasitism—
lice, tapeworm, athlete’s foot (fungal infection); mutualism—beneficial bacteria in the human gut

A parasite’s small size may allow it to live on its host unseen or to live in its host. It needs less nourishment
than a larger organism so it can get what it needs from its host.

Sample answer:

Commensalism
= Good fo 1 spocios:
Noffect on 1 spocies

Parasitism
= Good fo parasito
« Bad for host
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5. Sample answer:
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Commensalism
= Good fo 1 spocios:
Noffect on 1 spocies

Parasitism

= Good fo parasito
« Bad for host

6. (a) parasitism;  (b) commensalism; ~ {¢) mutualism
7.¢ 2.8 9.0 10.8
1. Hooks and suckers allow them to attach. Some systems may be underdeveloped or nonexistent (therefore
they need less nutrition). They are generally small so they may be less noticeable.
12. The parasite does not rely on an organism once it has been made weak or has been killed by the parasite.
13. Parasites may control species’ population growth, preventing them from becoming too abundant and
ensuring the survival of the strongest and healthiest members of a population.

14. Sample answer: The populations of the plant and the pollinator would be likely to reinforce each other, with
the benefit to the plant that there would be enough pollinators. However, if the pollinator population were
wiped out by disease (as honey bees have been wiped out) or another factor, there would be no pollinators
atall, and the plant population would also die out.




